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1. Make a complete tree diagram for the following information:
77 p(+n o) =6 F U 1)

CICh A
P(OIL)=0.1 — ) ] L2
P(+ ] OIL) =0.7 %P( Ao = (L0

P(+ | no OIL) = 0.2 WP(+ Ore o) = (AD02)

- Pl Mo o) = (8D
Identify events like OIL+ in the tree and thelr prob %llltles (don't reduce).
2. From your tree determine

“_ a P(-|noOIL) ={, &

. _—

ORI ETD +(,e)(.2)]
3. If events A, B satisfy —

P(A) = 0.7 P(B) =02 PBIA) =01
Na. PAB)= P(A)-P(&)A) = PLANE) = %ﬁi{c D

| ‘*b PAUB)= P(A)+P(ED-P(ANEY
| = Pl e~ B (M- PRI - ?( 2+ (.20~ (D D\
S PBYIA)= 4 Sy =
f=r(®ia) =\ -. [La\ »
4. A random equal probablllty with-repl sample of n = 400 has _ 7 .
=16.8 s=124 = YWELoH
q5%e g 124
o & Which interval (method) covers population ¢ around 6§% of time? = 7T 20
16.8 £ 0.623 16.8:1.960.62 168+ 0.031 16.8 * 1.96x0.031 - 16. %> .62

(%= §0o vy f¢) X
the list {610, 14} but do not reduce:~ 7, 5]

_[(wsy@ £ (10 W) + (14 -’ ez |
——— %-‘ AE)
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5. Box { R R RYYY Y GGG G G} Draws without replacement but

with equal probability.
\a P(R4 | RI R2 G3) {from the relevant box) = \ \ / q l

Yy e G ; |
b. P(R2) deduced from e total probability and multiplication rules =

() = PlR1R2) + P(R1°R2)
= p(r)- Przlel) + PR P(Rz|RIe)
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